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Student: Instructor: Joe Betters
Date: ) Course: Pre-Calculus Pre AP (Master Assignment: 14.4 HW 2020 (Adjusted)

{ Course)

Find the slope of the tangent line to the graph of f(x) = 8x+ 2 at the point (= 1, - 6). Graph f and the tangent line.

Type the slope e tangent line, my,,,, in the box below. (-_)
Sy - &<
Myan = (Type an integer or a simplified fraction.) - 74 -~

Which graph shown below is the correct graph of the original function and the tangent line?

ID: 14.4.9

Find the slope of the tangent line to the graph of f(x) = 3x% at
the point (1,3). Graph f and the tangent line.
Type the slg tangent line, my, ., in the box below. .
: ach
e Wds el
Mign = {(Enter the value as an integer or OA' \ (JOY\PT
reduced frattion.)
Use the graphing tool to graph the function and the tangent . : , x}
line. -2 2
R T S C N N e )
s - __________,_._—-
= = 1%
*~-C Y-\ 4
2 ON
2 (7( ~\ ) 6
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Find the slope of the tangent line to the graph of f at the

[y

hy .’/"
i

given point. Graph f and the tangent line, — y
- —_ hisd P 7
f(x) =x> +2x at (1,3) 15 //
- - 19 rd _
- /‘}/
The slope of the ta b the graph of f(x)=x" +2xat | [T 9 Y
(1,3)is Mgy =[] . 6 i
(Type an integer onasimptified fraction.) S — - .
Use the graphing tool to graph the function and the taagent e S— /‘ e S N
line. ('.\ 2, " : . —
I— . 7
_ Q_ o ri // —
)( X — \ 12
2, 17 L
S sp\ f\r-- (x \\.x, (2r~2) &
*/W* K=Y WINPT0 b
W Mx AN )+ 2 C | Soc X
Find the derivatj ________Of f(x)= —7x+7 at3. Thati is, find f’ (3) T i L)(/\)\ \ ...... + \ *\ + '}
f'(3) =( - *4 J (Enter the value as an integer or reduced fraction.) \

ID: 14.4.21 SQW}ECB =" l\’ﬁjﬁ/‘ N

5. Find the derivatiye of f(x) = x> —6x +x at 2, That s, find f '(2).
' 2)y=}— (Enter the value as an integer or reduced fraction.)
= ﬁ\or'\—c;,u*‘ a\er Vv *

. S "Sx 510 SV EEEA O\uc:) D S
6. Find the derivative of the functlon f(x)= 7 sinx+§at 0. % (9\ \'} (9\ + \

ID: 14.4.31 .
1‘:—057{ SN0 Yo e o Fos O = o
._’.
Use a graphing utility to find the derivative of f(x} = ——— at ~4. Thatis, find f (- 4).
X°+6x+3

|:__J (Round the answer to six decimal places, if necessary.)

X Ce s o
ID: 14.4.35 52@0&‘0\-\@- 6\%*
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8. n
Use a graphing utility to find the derivative of the function f(x) = 3x° sinx at 2

L — © See. oddrecina
(Round to six decimal places as needed.) 6\ 'SS"

ID: 14.4.39

9. Usea graphing utility to find the derivative of {(x} = e*cos xat -=7. Thatis, find f'(-7).

(-7 = |: (Round the answer to three decimal places, if necessary.)

3 See. atdnche e Sheet

10. Instantaneous Rate of Change The volume V of a right circular cylinder of height 6 feet and radius r feet is
V=V(r)= 6xr. Find the instantaneous rate of change of the volume with respect to the radius r at r=8.

N

(Leave & as a symbol in your answer. Do not use an approximation for the value of =.)

% See adfacled Sheet

ID: 14.4.41

ID: 14.4.43

11. 4
The volume V of a sphere of radius rfeetis V=V(r) = gnr3. Find the instantaneous rate of change of the volume with

respect to the radius r at r=6.

meewes L Gep addeched ek

(Type an exact answer in terms of m.)

ID: 14.4.45
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12.

In physics it is shown that the height s of a ball thrown straight up with an initial speed
of 256 ftfsec from ground Ievel iss= s(t) =~ 16t +256t where t is the elapsed time that the ball isin the air.

(a) Whe es the ball strlke the ground” That is, how Iong is the ball in the air?

seconds - \(ot }%(ot (& & ( IE+256)=0
(b) What is the average speed of the ball from t =0 to t = 32 €20 €=
£+ -€(o0d 24 -0
[ ftfsec — ., T = oK
50 )

(c) What is the instantaneg peed of the ball at time {7

(d) Whati]s the instantaneous speed of the ball at t =37

| ft/sec take, dorivedive b P SE S S 30 N 2 Sort
(e} When is the instantaneous speed of the ball equal to zero?
. ) -
seconds 631* g_o,gxdf‘»»‘\f'“’- © ...y}t XoSe=o = g
(f) How high js the ball when its instantaneous speed equals zero?
Jeet 2 pstNuNE B INYD origin\

16(EY +250( 8
= |04

(g) What s instantaneous speed of the ball when it strikes the ground?

fisec 6\4\75}-‘—:-\-‘)*& \(9

ID: 14.4.47 ey
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4, -7
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7. 15.36

8. 4.640699

9. 0.001

10. 967

11. 144n

12. 16
208
- 32t +256
160
8
1024
- 256
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